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WHOLE NUMBERS

Exercise

1. Are all natural numbers are whole numbers?

Watch Video Solution

2. Are all whole numbers are natural numbers?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o04mRNJMWBYd
https://dl.doubtnut.com/l/_dgqcL1acc4ab


3. Find by using number line: what number should be reduced from 8 to

get 5?

Watch Video Solution

4. Find by using line: what numbers should be deducted from 6 to get 1?

Watch Video Solution

5. Find by using line: what numbers should be added to 6 to get 8?

Watch Video Solution

6. ___is the smallest whole number.

Watch Video Solution

https://dl.doubtnut.com/l/_g7asuCzBCllP
https://dl.doubtnut.com/l/_OeL8Qa2ENBD3
https://dl.doubtnut.com/l/_FGUtlvIPcvEQ
https://dl.doubtnut.com/l/_8TgWtIHWn9Zk


7. How many 6 are needed to get 30?

Watch Video Solution

8. There is natural number that has no predecessor: (True/false)

Watch Video Solution

9. Zero is the smallest whole number:(True/false)

Watch Video Solution

10. A while number that lies on the number lies to the right side of

another number is the greater number: (True/false)

Watch Video Solution

https://dl.doubtnut.com/l/_zQG59qaEUXAq
https://dl.doubtnut.com/l/_Ckx6LTydzodg
https://dl.doubtnut.com/l/_GzEkGGcTTJWU
https://dl.doubtnut.com/l/_K39FGlVpMzTn


11. A whole number on the left of anther number on the number line, is

greater: (True/false)

Watch Video Solution

12. We can't show the smallest whole number on the number line:

(True/false)

Watch Video Solution

13. How many whole numbers are there between 27 and 46?

Watch Video Solution

14. Find using number line: 

Watch Video Solution

6 + 7 + 7

https://dl.doubtnut.com/l/_oCU7ICLaggOv
https://dl.doubtnut.com/l/_Eo9TzElJmsDz
https://dl.doubtnut.com/l/_HEohIjceqqSd
https://dl.doubtnut.com/l/_Hd30BMc3DC2a
https://dl.doubtnut.com/l/_bkMQc9QJzQcs


15. Find using number line: 

Watch Video Solution

18 − 9

16. Find using number line: 

Watch Video Solution

5 × 3

17. State which whole number on the number line is on the right of the

other number: 895,239

Watch Video Solution

18. State which whole number on the number line is on the right of the

other number: 1001,10001

Watch Video Solution

https://dl.doubtnut.com/l/_bkMQc9QJzQcs
https://dl.doubtnut.com/l/_zgPqhpNu5TDl
https://dl.doubtnut.com/l/_4oAlA9zyrzQp
https://dl.doubtnut.com/l/_6JhiTX4IbjMy
https://dl.doubtnut.com/l/_qqbyCphlBE7l


19. State which whole number on the number line is on the right of the

other number: 10015678,284013

Watch Video Solution

20. Mark the smallest whole number on the number line.

Watch Video Solution

21. Choose the appropriate symbol from  or  8___7

Watch Video Solution

< >

22. Choose the appropriate symbol from  or  5__2

Watch Video Solution

< >

https://dl.doubtnut.com/l/_qqbyCphlBE7l
https://dl.doubtnut.com/l/_aRzAsR47y85G
https://dl.doubtnut.com/l/_2jxB1ZgMpOMA
https://dl.doubtnut.com/l/_fSmQaHelFRJB


23. Choose the appropriate symbol from  or  0___1

Watch Video Solution

< >

24. Choose the appropriate symbol from  or  10___5

Watch Video Solution

< >

25. Is  ? Is there any associated property for

division? Check if the property holds for subtraction of whole numbers

too.

Watch Video Solution

(8 ÷ 2) ÷ 4 = 8 ÷ (2 ÷ 4)

26. Find out  and 

Watch Video Solution

12 ÷ 3 42 ÷ 7

https://dl.doubtnut.com/l/_iaGi9NeOOhH4
https://dl.doubtnut.com/l/_l7wJ3wzSqOGw
https://dl.doubtnut.com/l/_5mvlZNJUI0WQ
https://dl.doubtnut.com/l/_jtU3zii9IKkj
https://dl.doubtnut.com/l/_MEb6MR5nukUU


27. What would  and 

Watch Video Solution

6 ÷ 0 9 ÷ 0

28. Verify 

Watch Video Solution

(3 × 7) × 5 = 3 × (7 × 5)

29. Use the commutative and associative property to simplify:

Watch Video Solution

2 × (71 × 5)

30. Use the commutative and associative property to simplify:

Watch Video Solution

(50 × 17) × 2

https://dl.doubtnut.com/l/_MEb6MR5nukUU
https://dl.doubtnut.com/l/_DcOLf4sCbphY
https://dl.doubtnut.com/l/_McsNzifRV71p
https://dl.doubtnut.com/l/_9PzE7jhMbAnR
https://dl.doubtnut.com/l/_jNYkpdZ36t3b


31. Find  using distributive property

Watch Video Solution

25 × 78

32. Find using distributive property

Watch Video Solution

17 × 26

33. Find using distributive property.

Watch Video Solution

49 × 68 + 32 × 49

34. Take a few examples and check whether- 

Subtraction is commutative for whole numbers or not?

Watch Video Solution

https://dl.doubtnut.com/l/_jNYkpdZ36t3b
https://dl.doubtnut.com/l/_wCayjhkueOPU
https://dl.doubtnut.com/l/_X0Kf9eS0Uang
https://dl.doubtnut.com/l/_4SQnP7t5bEfT


35. Take a few examples and check whether division is commutative for

whole numbers or not?

Watch Video Solution

36. Give the result without performing the operations using the given

information.  then ___

Watch Video Solution

28 × 19 = 532 19 × 28

37. Give the result without performing the operations using the given

information.  then 

Watch Video Solution

1 × 47 = 47 46 × 1

38. Give the result without performing the operations using the given

information.  then 58 + 42 = 100 42 + 58 =

https://dl.doubtnut.com/l/_mMziKkjqM2WY
https://dl.doubtnut.com/l/_HrwPBEstzfgy
https://dl.doubtnut.com/l/_3LvfYQCmKMhW
https://dl.doubtnut.com/l/_hOtWFuEDMNs5


Watch Video Solution

39. Give the result without performing the operations using the given

information.  then 

Watch Video Solution

85 + 0 = 85 0 + 85

40. Give the result without performing the operations using the given

information.  then 

Watch Video Solution

a + b = d b + a

41. Find the sum by suitable rearrangement: 

Watch Video Solution

238 + 695 + 162

42. Find the sum by suitable rearrangement: 

W h Vid S l i

154 + 197 + 46 + 203

https://dl.doubtnut.com/l/_hOtWFuEDMNs5
https://dl.doubtnut.com/l/_avVko1o20kUB
https://dl.doubtnut.com/l/_QbfW2tbKyyFf
https://dl.doubtnut.com/l/_gRrflQQVQVux
https://dl.doubtnut.com/l/_Zn8XwVlUTWgr


Watch Video Solution

43. Find the product by suitable rearrangement: 

Watch Video Solution

25 × 1963 × 4

44. Find the product by suitable rearrangement: 

Watch Video Solution

20 × 255 × 50 × 6

45. Find the value of: 

Watch Video Solution

368 × 12 + 18 × 368

46. Find the value of: 

Watch Video Solution

79 × 4319 + 4319 × 11

https://dl.doubtnut.com/l/_Zn8XwVlUTWgr
https://dl.doubtnut.com/l/_REKPDGtOEjdR
https://dl.doubtnut.com/l/_dBmiFLM2Bvma
https://dl.doubtnut.com/l/_wd5qnk98R9tN
https://dl.doubtnut.com/l/_EIdRxnKfp7Jt
https://dl.doubtnut.com/l/_PKZRQDPG7ToH


47. A milk vendor supplies 56 litres of milk in the morning and 44 litres of

milk in the evening to a hostel. If the milk costs ₹30 per litre, how much

money he gets per day?

Watch Video Solution

48. Chandana and venu purchased 12 note books and 10 books

respectively. The cost of each note book is ₹15, then how much amount

should they pay for the shopkeeper?

Watch Video Solution

49. Which numbers can be shown as a line only?

Watch Video Solution

50. Which of the following number of dots can be shown as rectangles?

https://dl.doubtnut.com/l/_PKZRQDPG7ToH
https://dl.doubtnut.com/l/_0NWOppOgKxfu
https://dl.doubtnut.com/l/_y4i7KyAzFg5Z
https://dl.doubtnut.com/l/_vHEiVykXmQLp


A. 9

B. 7

C. 5

D. 6

Answer:

Watch Video Solution

51. Which numbers can be shown as squares?

Watch Video Solution

52. Which numbers can be shown as triangles?

Watch Video Solution

https://dl.doubtnut.com/l/_vHEiVykXmQLp
https://dl.doubtnut.com/l/_dlwoaFE3Y5tB
https://dl.doubtnut.com/l/_mN84h7SVTvAD


53. How would you multiply the numbers 13680347,357023569 and

25692359 with 9 mentally? What is the pattern that emerges?

Watch Video Solution

54. Write the successor, predecessor of 57.

Watch Video Solution

55. Represent 9 and 13 on a number line.

Watch Video Solution

56. Represent  on a number line.

Watch Video Solution

5 + 3

https://dl.doubtnut.com/l/_GbNVioRKEA3J
https://dl.doubtnut.com/l/_VBsWIIdpKG8R
https://dl.doubtnut.com/l/_W2L3nET5HxWN
https://dl.doubtnut.com/l/_jOxSsFmmA7JG


57. Represent  on a number line.

Watch Video Solution

9 − 5

58. Represent  on a number line.

Watch Video Solution

4 × 3

59. How many whole numbers are there between 6 and 29?

Watch Video Solution

60. Which of the following numbers lie on the right side of the other

number on a number: 30541,21503,49812,49659

Watch Video Solution

https://dl.doubtnut.com/l/_EZvBiVb9rx6l
https://dl.doubtnut.com/l/_Eyhm764L91n1
https://dl.doubtnut.com/l/_vOT1Ky2IsaJ1
https://dl.doubtnut.com/l/_Xrl2s3KndbKm


61. Find the sum by suitable rearrangement: 

Watch Video Solution

476 + 63 + 24

62. Find the product by suitable rearrangement: 

Watch Video Solution

4 × 78 × 50 × 5

63. Find the product using suitable properties: 

Watch Video Solution

2007 × 110

64. Find the product using suitable properties: 

Watch Video Solution

5431 × 98

65. The predecessor of 0 in whole number___

https://dl.doubtnut.com/l/_xFCuk1s8thAO
https://dl.doubtnut.com/l/_KHwslwO4Ws70
https://dl.doubtnut.com/l/_WFWAltY0eze3
https://dl.doubtnut.com/l/_wuPqYkjuZ6rU
https://dl.doubtnut.com/l/_sSdcpFuWJH8Y


Watch Video Solution

66. A,b are any two whole numbers and if = , then this property

is___

Watch Video Solution

a + b b + a

67. The multiplication identify of whole numbers is_____

Watch Video Solution

68.  is called ___ property.

Watch Video Solution

a(b + c) = ab + ac

69. One ascending order of whole numbers on a number line moves

from__to___

https://dl.doubtnut.com/l/_sSdcpFuWJH8Y
https://dl.doubtnut.com/l/_aNagiuSkARpM
https://dl.doubtnut.com/l/_Qh96oqXkvZk3
https://dl.doubtnut.com/l/_IXmxOJEd48C0
https://dl.doubtnut.com/l/_2QV4C0ErzJA0


Watch Video Solution

70. Find by using number line: what number should be reduced from 8 to

get 5?

Watch Video Solution

71. Find by using line: what numbers should be added to 6 to get 8?

Watch Video Solution

72. Find by using number line: what number should br deducted from 6

to get 1?

Watch Video Solution

73. Find by using number line: how many 6 are needed to get 30?

https://dl.doubtnut.com/l/_2QV4C0ErzJA0
https://dl.doubtnut.com/l/_VomYbi7KXkng
https://dl.doubtnut.com/l/_hmW9xIGvKDki
https://dl.doubtnut.com/l/_YidRCE89RKeQ
https://dl.doubtnut.com/l/_NL9EnEDe35Jj


Watch Video Solution

74. Take a few examples and check whether subtraction is commutative

for whole numbers or not?

Watch Video Solution

75. Take a few examples and check whether division is commutative for

whole numbers or not?

Watch Video Solution

76. Which number can be shown as a line only?

Watch Video Solution

77. Which numbers can be shown as rectangles?

W t h Vid S l ti

https://dl.doubtnut.com/l/_NL9EnEDe35Jj
https://dl.doubtnut.com/l/_PpXv3eQvVTPN
https://dl.doubtnut.com/l/_NfdB2ODV7X7b
https://dl.doubtnut.com/l/_j0VYzAgtBiZt
https://dl.doubtnut.com/l/_nfzfZP9MWCb4


Watch Video Solution

78. Which numbers can be shown as squares?

Watch Video Solution

79. Which numbers can be shown as triangles?

Watch Video Solution

80. Which number of natural number has no predecessor?

Watch Video Solution

81. Which number has no successor?

Watch Video Solution

https://dl.doubtnut.com/l/_nfzfZP9MWCb4
https://dl.doubtnut.com/l/_aiytlGH76Bb1
https://dl.doubtnut.com/l/_M7S0I87IisUY
https://dl.doubtnut.com/l/_ZEcqMDKrkQgO
https://dl.doubtnut.com/l/_3I12BLsSqLHs
https://dl.doubtnut.com/l/_GFVT8FfvVof0


82. The natural numbers along with zero is called set of____

Watch Video Solution

83. the set of whole numbers is denoted by__

Watch Video Solution

84. ___is the smallest whole number.

Watch Video Solution

85. 4 is greater than 3, so 4 lies___to the 3 on a number line.

Watch Video Solution

86. 12 lies on the right of 8. So 8 is __12

W t h Vid S l ti

https://dl.doubtnut.com/l/_GFVT8FfvVof0
https://dl.doubtnut.com/l/_8inW1yIxShoy
https://dl.doubtnut.com/l/_zj7Vh46eyBvL
https://dl.doubtnut.com/l/_SPlIquZjPCZm
https://dl.doubtnut.com/l/_zjA6WB9Zyz3i


Watch Video Solution

87. We can't show___whole number on the number line.

Watch Video Solution

88. The sum of any two whole numbers is again a whole number. This

property is called___

Watch Video Solution

89. The multiplication identify of whole numbers is_____

Watch Video Solution

90.  find the sum using number line.

Watch Video Solution

4 + 3 + 5

https://dl.doubtnut.com/l/_zjA6WB9Zyz3i
https://dl.doubtnut.com/l/_8TPnhWrQViVl
https://dl.doubtnut.com/l/_aBGaRgKe3cL6
https://dl.doubtnut.com/l/_MOzLIbxQTC6v
https://dl.doubtnut.com/l/_wZMnN0bhMMet


91. Subtract  using number line.

Watch Video Solution

9 − 2 − 3

92. Multiply  by using number line.

Watch Video Solution

5 × 3

93. Find  using properties.

Watch Video Solution

173 + 256 + 27

94. Find using properties.

Watch Video Solution

5 × 9 × 2 × 2 × 3 × 5

95. Find using distributive property.18 × 120

https://dl.doubtnut.com/l/_6T0POBPb9npN
https://dl.doubtnut.com/l/_3nsTqygpr937
https://dl.doubtnut.com/l/_yiVzJBodw8um
https://dl.doubtnut.com/l/_eYXEXDctpJ7g
https://dl.doubtnut.com/l/_uOWp1k8HaGNu


Watch Video Solution

96. Find  using distributive property.

Watch Video Solution

67 × 98

97. What order will be the numbers on number line?

Watch Video Solution

98. __

Watch Video Solution

6 + 7 + 7

99. =.........

Watch Video Solution

18 − 9

https://dl.doubtnut.com/l/_uOWp1k8HaGNu
https://dl.doubtnut.com/l/_2L7cBQgld6E5
https://dl.doubtnut.com/l/_kMsr3x4auC8A
https://dl.doubtnut.com/l/_tqwaB8KKxrHj
https://dl.doubtnut.com/l/_Y9vflJMg8ctK
https://dl.doubtnut.com/l/_R2bYLCCDdiWV


100. =........

Watch Video Solution

5 × 3 × 0

101. =.........

Watch Video Solution

7 × 16

102. =...........

Watch Video Solution

12 ÷ 3

103. =............

Watch Video Solution

(3 + 4) + 5

104. =..............2 × (71 × 5)

https://dl.doubtnut.com/l/_R2bYLCCDdiWV
https://dl.doubtnut.com/l/_wEErNaKnkIFI
https://dl.doubtnut.com/l/_IhrmGL5LwpAD
https://dl.doubtnut.com/l/_HeSCGSfsu1vw
https://dl.doubtnut.com/l/_g6ShpCY7haVd


Watch Video Solution

105. 196+57+4=..........

Watch Video Solution

106. =................

Watch Video Solution

12 × 75

107. ___has no predecessor in natural number.

Watch Video Solution

108. Are all natural numbers are whole numbers?

Watch Video Solution

https://dl.doubtnut.com/l/_g6ShpCY7haVd
https://dl.doubtnut.com/l/_JonG55yJG43V
https://dl.doubtnut.com/l/_F1W4K36T0CBG
https://dl.doubtnut.com/l/_KdY9HGSQrpmF
https://dl.doubtnut.com/l/_gQgUkZw7osDR
https://dl.doubtnut.com/l/_fqmVo0ZOkmYS


109. Number of whole numbers between 4 and 5 is__

Watch Video Solution

110. 8………..7(use  or )

Watch Video Solution

< >

111.  is not ___ number.

Watch Video Solution

2 ÷ 6

112. the set of whole numbers is denoted by__

A. W

B. N

C. Q

https://dl.doubtnut.com/l/_fqmVo0ZOkmYS
https://dl.doubtnut.com/l/_KsPyhh0Z1LWc
https://dl.doubtnut.com/l/_sDtz78UsuIkt
https://dl.doubtnut.com/l/_PQY5GnIb3vG6


D. Z

Answer:

Watch Video Solution

113. Set of natural numbers is denoted by-

A. Z

B. Q

C. W

D. N

Answer:

Watch Video Solution

114. Fill in the blanks :  = ..............N ∪ {0}

https://dl.doubtnut.com/l/_PQY5GnIb3vG6
https://dl.doubtnut.com/l/_jsD2aEBAkAA6
https://dl.doubtnut.com/l/_AxDCzdFslrkh


A. P

B. Z

C. W

D. N

Answer:

Watch Video Solution

115. Fill in the blanks : The least Whole number is ........

A. 3

B. 0

C. 1

D. 7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AxDCzdFslrkh
https://dl.doubtnut.com/l/_LMJLoFTWOLZg


116. The least natural number is____

Watch Video Solution

117. …………… is called the additive identity.

A. 3

B. 4

C. 1

D. 0

Answer:

Watch Video Solution

118. How many 6 are needed to get 30?

https://dl.doubtnut.com/l/_LMJLoFTWOLZg
https://dl.doubtnut.com/l/_ivCQSNH6Or92
https://dl.doubtnut.com/l/_1NbCFhMzhdFR
https://dl.doubtnut.com/l/_rnSfDA3Fkh0B


A. 1

B. 3

C. 5

D. 4

Answer:

Watch Video Solution

119.  the property here is______

Watch Video Solution

3 × 5 = 5 × 3

120. ___ is the multiplicative identity.

Watch Video Solution

https://dl.doubtnut.com/l/_rnSfDA3Fkh0B
https://dl.doubtnut.com/l/_Vw1P2lhVnNTW
https://dl.doubtnut.com/l/_hX6PKDYnRd2O


121.  is called __ property.

Watch Video Solution

a + (b + c) = (a + b) + c

122. is called ___ property.

Watch Video Solution

a + b = b + a

123.  is called property.

Watch Video Solution

a × (b × c) = (a × b) × c

124. =__

A. 1

B. -a

C. a

a × 1

https://dl.doubtnut.com/l/_OsRn3EfvubQc
https://dl.doubtnut.com/l/_OSTX2h9oPnyl
https://dl.doubtnut.com/l/_q2MDSFk0SrwB
https://dl.doubtnut.com/l/_GnKueOKatceW


D. 

Answer:

Watch Video Solution

1/a

125. =.........

A. 9

B. 4

C. 3

D. 1

Answer:

Watch Video Solution

1 × 8 + 1

126. Division by zero is........

https://dl.doubtnut.com/l/_GnKueOKatceW
https://dl.doubtnut.com/l/_Car9stYKJUNV
https://dl.doubtnut.com/l/_DGSiGxmKhCbT


Example

A. 0

B. 1

C. 2

D. Not defined.

Answer:

Watch Video Solution

1. Find 196+57+4.

Watch Video Solution

2. Find 

Watch Video Solution

5 × 9 × 2 × 2 × 3 × 5

https://dl.doubtnut.com/l/_DGSiGxmKhCbT
https://dl.doubtnut.com/l/_K4TaKsObPSHZ
https://dl.doubtnut.com/l/_Ro1qln8BhHQV


Do This

3. Find  using distributive property.

Watch Video Solution

12 × 70

1. Which is the smallest whole number?

Watch Video Solution

2. Show these on number line: 5-3

Watch Video Solution

https://dl.doubtnut.com/l/_JyfatJusU6At
https://dl.doubtnut.com/l/_vpKEeBJQ1LWU
https://dl.doubtnut.com/l/_xbIw8TM0qalX


3. Show these on number line: 

Watch Video Solution

5 − 3

4. Show these on number line: 

Watch Video Solution

3 + 5

5. Show these on number line: 10+1

Watch Video Solution

6. Find out 

W h Vid S l i

18 ÷ 3 and 63 ÷ 7

https://dl.doubtnut.com/l/_PNy3EU5crr7c
https://dl.doubtnut.com/l/_4D97NU1B0Fe8
https://dl.doubtnut.com/l/_KtzssLTwwysT
https://dl.doubtnut.com/l/_zesNFnx3qrxQ


Watch Video Solution

7. What would  be equal to ?

Watch Video Solution

6 ÷ 0 and 9 ÷ 0

8. Verify the following: 

Watch Video Solution

(5 × 6) × 2 = 5 × (6 × 2)

9. Verify the following: 

Watch Video Solution

(3 × 7) × 5 = 3 × (7 × 5)

10. simplify the following: 

319 + 69 + 81

https://dl.doubtnut.com/l/_zesNFnx3qrxQ
https://dl.doubtnut.com/l/_o2xCHbtT3lMZ
https://dl.doubtnut.com/l/_g10jXCrqFoPr
https://dl.doubtnut.com/l/_X8Ul6q7JI6Xd
https://dl.doubtnut.com/l/_HPWTHA3izUnK


Watch Video Solution

11. simplify the following: 

Watch Video Solution

431 + 37 + 69 + 63

12. simplify the following: 

Watch Video Solution

2 × (71 × 5)

13. simplify the following: 

Watch Video Solution

50 × 17 × 2

https://dl.doubtnut.com/l/_HPWTHA3izUnK
https://dl.doubtnut.com/l/_ktgxqfJnbNGG
https://dl.doubtnut.com/l/_LMKaNa6D8kWT
https://dl.doubtnut.com/l/_de6KSyPqKLPg


14. Find  using distributive property.

Watch Video Solution

25 × 78, 17 × 26, 49 × 68 + 32x49

15. Which is the smallest whole number?

Watch Video Solution

16. Show these on number line: 

Watch Video Solution

3 + 5

17. Show these on number line: 5-3

Watch Video Solution

https://dl.doubtnut.com/l/_kK9mvz9k9Qic
https://dl.doubtnut.com/l/_enBbSa7zRo8m
https://dl.doubtnut.com/l/_CIbN8NT8KHsp
https://dl.doubtnut.com/l/_2o3coIhE3yEJ


18. Show these on number line: 

Watch Video Solution

3 + 5

19. Show these on number line: 10+1

Watch Video Solution

20. Find out  and 

Watch Video Solution

12 ÷ 3 42 ÷ 7

21. What would  and 

Watch Video Solution

6 ÷ 0 9 ÷ 0

https://dl.doubtnut.com/l/_2o3coIhE3yEJ
https://dl.doubtnut.com/l/_wpFjdHrsszUy
https://dl.doubtnut.com/l/_A6u7oE9nZHBS
https://dl.doubtnut.com/l/_ZSfE20V4siS2
https://dl.doubtnut.com/l/_1OFThZ1Iyl36


22. సరిచూపండి.


Watch Video Solution

(5 × 6) × 2 = 5 × (6 × 2)

23. Verify the following: 

Watch Video Solution

(3 × 7) × 5 = 3 × (7 × 5)

24. Use the commutative and associative properties to simplify the

following: 

Watch Video Solution

319 + 69 + 81

https://dl.doubtnut.com/l/_1OFThZ1Iyl36
https://dl.doubtnut.com/l/_q0aQy9h8pLXm
https://dl.doubtnut.com/l/_bcYi1QlivQCW
https://dl.doubtnut.com/l/_pJY8I5milFb9


25. Use the commutative and associative property to simplify the

following 

431 + 37 + 69 + 63

Watch Video Solution

26. Use the commutative and associative properties to simplify the

following: 

Watch Video Solution

2 × (71 × 5)

27. Use the commutative and associative properties to simplify the

following: 

Watch Video Solution

50 × 17 × 2

https://dl.doubtnut.com/l/_9px7WsePMwI8
https://dl.doubtnut.com/l/_rlzIQo1bNK4y
https://dl.doubtnut.com/l/_NHy1AnxiiYQV
https://dl.doubtnut.com/l/_vGWaxAngqQVO


Think Discuss And Write

28. Find  using distributive property.

Watch Video Solution

25 × 78, 17 × 26, 49 × 68 + 32x49

1. Are all natural numbers are whole numbers?

Watch Video Solution

2. Are all whole numbers are natural numbers?

Watch Video Solution

3. Are the whole numbers closed under subtraction? 

Your subtractions may be like this: 

https://dl.doubtnut.com/l/_vGWaxAngqQVO
https://dl.doubtnut.com/l/_tWJwzUbl7SGK
https://dl.doubtnut.com/l/_3Fbd9zGZiS4k
https://dl.doubtnut.com/l/_UHiNqJ4qTBBj


. 


Take as many examples as possible and check.

Watch Video Solution

4. Are the whole numbers closed under division? 

Now observer this table 

 


Confirm it by taking few more examples.

Watch Video Solution

https://dl.doubtnut.com/l/_UHiNqJ4qTBBj
https://dl.doubtnut.com/l/_USpQBvfKM79z


5. Is ? 


Is there any associative property for division? 

Check if the property holds for subtraction of whole numbers too.

Watch Video Solution

(16 ÷ 4) ÷ 2 = 16 ÷ (4 ÷ 2)

6. Are all natural numbers are whole numbers?

Watch Video Solution

7. Are all whole numbers are natural numbers?

Watch Video Solution

8. Are the whole numbers closed under subtraction? 

Your subtractions may be like this: 

https://dl.doubtnut.com/l/_8lJixTQq2hgU
https://dl.doubtnut.com/l/_Xi5LbV2eysz0
https://dl.doubtnut.com/l/_kfggJrkia6j5
https://dl.doubtnut.com/l/_pwCIgjzy1OSs


. 


Take as many examples as possible and check.

Watch Video Solution

9. Are the whole numbers closed under division? 

Now observer this table 

 


Confirm it by taking few more examples.

Watch Video Solution

https://dl.doubtnut.com/l/_pwCIgjzy1OSs
https://dl.doubtnut.com/l/_1EDzRTgtQMwo


Try These

10. Is  ? Is there any associated property for

division? Check if the property holds for subtraction of whole numbers

too.

Watch Video Solution

(8 ÷ 2) ÷ 4 = 8 ÷ (2 ÷ 4)

1. Find the using number line: 

What number should be deducted from 8 to get 5?

Watch Video Solution

2. what number should be deducted from 6 to get 1?

Watch Video Solution

https://dl.doubtnut.com/l/_rWEAqEbz29iG
https://dl.doubtnut.com/l/_tK5gzdUIziZI
https://dl.doubtnut.com/l/_kh8RaJ95z6y8


3. Find the using number line: 

What number should be added to 6 to get 8?

Watch Video Solution

4. How many 6 are needed to get 30?

Watch Video Solution

5. Take a few examples and check whether- 

Subtraction is commutative for whole numbers or not?

Watch Video Solution

6. Take a few examples and check whether- 

Division is commutative for whole numbers or not?

Watch Video Solution

https://dl.doubtnut.com/l/_v30k5JJcqj4Y
https://dl.doubtnut.com/l/_AeYHAmQwweHx
https://dl.doubtnut.com/l/_pDj7dLLEC48H
https://dl.doubtnut.com/l/_2sKjPXh0fuNx


7. Which numbers can be shown as a line only?

Watch Video Solution

8. Which numbers can be shown as rectangles?

Watch Video Solution

9. Which numbers can be shown as squares?

Watch Video Solution

10. Which numbers can be shown as triangles? eg. 3, 6, .....

Watch Video Solution

https://dl.doubtnut.com/l/_2sKjPXh0fuNx
https://dl.doubtnut.com/l/_Tge7r1mvlTOo
https://dl.doubtnut.com/l/_nn3YD4pviZtR
https://dl.doubtnut.com/l/_YTZ9XNElgN6u
https://dl.doubtnut.com/l/_LrJTCdTW63UD


11. what number should be deducted from 8 to get 5?

Watch Video Solution

12. what number should be deducted from 6 to get 1?

Watch Video Solution

13. Find the using number line: 

What number should be added to 6 to get 8?

Watch Video Solution

14. How many 6 are needed to get 30?

https://dl.doubtnut.com/l/_GpI3w7OIvpYs
https://dl.doubtnut.com/l/_djcI8hCUabz4
https://dl.doubtnut.com/l/_Kih225foRXm3
https://dl.doubtnut.com/l/_9SCuG8YEgffk


Watch Video Solution

15. Take a few examples and check whether- 

Subtraction is commutative for whole numbers or not?

Watch Video Solution

16. Take a few examples and check whether- 

Division is commutative for whole numbers or not?

Watch Video Solution

17. Which numbers can be shown as a line only?

Watch Video Solution

18. Which numbers can be shown as rectangles?

https://dl.doubtnut.com/l/_9SCuG8YEgffk
https://dl.doubtnut.com/l/_QizDi3q36c1n
https://dl.doubtnut.com/l/_k09SaYPxsKw7
https://dl.doubtnut.com/l/_GrUS79i33Vwy
https://dl.doubtnut.com/l/_gMqLA72J8BXB


Exercise 2 1

Watch Video Solution

19. Which numbers can be shown as squares?

Watch Video Solution

20. Which numbers can be shown as triangles? eg. 3, 6, .....

Watch Video Solution

1. Which of the statements are true (T) and which are false (F). Correct the

false statements 

There is a natural number that has no predecessor.

Watch Video Solution

https://dl.doubtnut.com/l/_gMqLA72J8BXB
https://dl.doubtnut.com/l/_TkleOKyKANvO
https://dl.doubtnut.com/l/_8e1ofpxgIMBK
https://dl.doubtnut.com/l/_MlUK4wt70Dtq
https://dl.doubtnut.com/l/_fxYoU0jHgdEK


2. Which of the statements are true (T) and which are false (F). Correct

the false statements 

Zero is the smallest whole number.

Watch Video Solution

3. Which of the statements are true (T) and which are false (F). Correct

the false statements 

All natural numbers are whole numbers.

Watch Video Solution

4. Which of the statements are true (T) and which are false (F). Correct

the false statements 

A whole number that lies on the number line lies to the right side of

another number is the greater number

Watch Video Solution

https://dl.doubtnut.com/l/_fxYoU0jHgdEK
https://dl.doubtnut.com/l/_4IdTPPjgbD2N
https://dl.doubtnut.com/l/_MDFfPxEkIfbM
https://dl.doubtnut.com/l/_bK9MYjWmq82v


5. Which of the statements are true (T) and which are false (F). Correct

the false statements 

A whole number on the left of another number on the number line, is

greater

Watch Video Solution

6. Which of the statements are true (T) and which are false (F). Correct

the false statements 

We can't show the smallest whole number on the number line

Watch Video Solution

7. Which of the statements are true (T) and which are false (F). Correct the

false statements 

We can show the greatest whole number on the number line

Watch Video Solution

https://dl.doubtnut.com/l/_bK9MYjWmq82v
https://dl.doubtnut.com/l/_i8vpcWMwT7dl
https://dl.doubtnut.com/l/_PKGLFvN6muQW


8. How many whole numbers are there between 27 and 46?

Watch Video Solution

9. Find using number line: 

Watch Video Solution

6 + 7 + 7

10. Find the following using number line. 18-9

Watch Video Solution

11. Find the following using number line. 

Watch Video Solution

3 × 5

https://dl.doubtnut.com/l/_plYmusqzoeuC
https://dl.doubtnut.com/l/_pPVyBwsqys4i
https://dl.doubtnut.com/l/_QnvzGdfHUfIf
https://dl.doubtnut.com/l/_oephKsA49gg7


Watch Video Solution

12. In each pair, state which whole number on the number line is on the

right of the other number. I)895,239

Watch Video Solution

13. In each pair, state which whole number on the number line is on the

right of the other number 1001,10001

Watch Video Solution

14. State which whole number on the number line is on the right of the

other number: 10015678,284013

Watch Video Solution

15. Mark the smallest whole number on the number line.

https://dl.doubtnut.com/l/_oephKsA49gg7
https://dl.doubtnut.com/l/_pHyjUCqZcK5h
https://dl.doubtnut.com/l/_Ba1TQN8Xq5Xx
https://dl.doubtnut.com/l/_mjeyLsFm7w1F
https://dl.doubtnut.com/l/_iWpsfYn8xlaD


Watch Video Solution

16. Choose the appropriate symbol from 

Watch Video Solution

8. . . .7

17. Choose the appropriate symbol from 

Watch Video Solution

5. . . . . 2

18. Choose the appropriate symbol from 

Watch Video Solution

0. . . . .1

https://dl.doubtnut.com/l/_iWpsfYn8xlaD
https://dl.doubtnut.com/l/_BthXYnmb7fjQ
https://dl.doubtnut.com/l/_yTA4N12PXcYh
https://dl.doubtnut.com/l/_GXh4oE82iGGv


Exercise 2 2

19. Choose the appropriate symbol from 

Watch Video Solution

10. . . . . 5

20. Place the successor of 11 and predecessor of 5 on the number line

Watch Video Solution

1. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

28 × 19 = 532 19 × 28 =

https://dl.doubtnut.com/l/_8OVnn1Udjcwu
https://dl.doubtnut.com/l/_iwJNQN26ZT1d
https://dl.doubtnut.com/l/_U0UoEhzrfdKa


2. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

1 × 47 = 47 47 × 1 =

3. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

a × b = c b × a =

4. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

58 + 42 = 100 42 + 58 =

https://dl.doubtnut.com/l/_K4b036Tc769J
https://dl.doubtnut.com/l/_P2PMglWrA7bY
https://dl.doubtnut.com/l/_9xRouqDVGKM7
https://dl.doubtnut.com/l/_czshtfqmdBKK


5. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

85 + 0 = 85 0 + 85 =

6. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

a + b = d b + a =

7. Find the sum by suitable rearrangement: 

Watch Video Solution

236 + 695 + 164

https://dl.doubtnut.com/l/_czshtfqmdBKK
https://dl.doubtnut.com/l/_hzTy8A4Tfd9G
https://dl.doubtnut.com/l/_CDeFLseKN7yb


8. Find the sum by suitable rearrangement: 

Watch Video Solution

157 + 195 + 43 + 205

9. Find the product by suitable rearrangement. 

Watch Video Solution

25 × 1963 × 4

10. Find the product by suitable rearrangement. 

Watch Video Solution

20 × 255 × 50 × 3

11. Find the value of the following: 

368 × 12 + 18 × 368

https://dl.doubtnut.com/l/_mscJKGfOxBuW
https://dl.doubtnut.com/l/_5p8nwUIDzA3X
https://dl.doubtnut.com/l/_8R1bYAHm6qpO
https://dl.doubtnut.com/l/_AZKwbsDW5HAh


Watch Video Solution

12. Find the value of the following: 

Watch Video Solution

79 × 4319 + 4319 × 11

13. Find the product using suitable properties: 

Watch Video Solution

205 × 1989

14. Find the product using suitable properties: 

Watch Video Solution

1990 × 1005

https://dl.doubtnut.com/l/_AZKwbsDW5HAh
https://dl.doubtnut.com/l/_QycWETPhzO9D
https://dl.doubtnut.com/l/_L5VOumJ8UQOx
https://dl.doubtnut.com/l/_suCWrhQxS11c


15. A milk vendor supplies 56 litres of milk in the morning and 44 litres of

milk in the evening to a hostel. If the milk costs ₹30 per litre, how much

money he gets per day?

Watch Video Solution

16. Ramu and seetha purchased 15 note books and 10 note books

respectively. The cost of each note book is Rs 15, then how much amount

should they pay to the shop keeper?

Watch Video Solution

17. Match the following: 

Watch Video Solution

https://dl.doubtnut.com/l/_qNV6G8ljO4vO
https://dl.doubtnut.com/l/_zfSlGFK2h2Mt
https://dl.doubtnut.com/l/_ylHumndWpAev


Exercise 2 3

1. Study the pattern: 

 


 


 


 


 


Write the next four steps. Can you find out how the pattern works?

Watch Video Solution

1 × 8 + 1 = 9

12 × 8 + 2 = 98

123 × 8 + 3 = 987

1234 × 8 + 4 = 9876

12345 × 8 + 5 = 98765

2. Study the pattern: 

 


 


 


91 × 11 × 1 = 1001

91 × 11 × 2 = 2002

91 × 11 × 3 = 3003

https://dl.doubtnut.com/l/_ylHumndWpAev
https://dl.doubtnut.com/l/_gHowczGMyEsN
https://dl.doubtnut.com/l/_0HdqOvOD8fWu


Examples

Write next seven steps. Check, whether the result is correct. 

Try the pattern for  . . . .

Watch Video Solution

143 × 7 × 1, 143 × 7 × 2

3. How would you multiply the numbers 13680347,357023569 and

25692359 with 9 mentally? What is the pattern that emerges?

Watch Video Solution

1. Find 196+57+4.

Watch Video Solution

2. Find 

Watch Video Solution

5 × 9 × 2 × 2 × 3 × 5

https://dl.doubtnut.com/l/_0HdqOvOD8fWu
https://dl.doubtnut.com/l/_gqMF0PNVQFBz
https://dl.doubtnut.com/l/_txmmPFoatEap
https://dl.doubtnut.com/l/_Jtbid3o5K5h5


Exercise 2 1 Which Of The Statements Are True T And Which Are False F

Correct The False Statements

3. Find  using distributive property.

Watch Video Solution

12 × 75

1. There is natural number that has no predecessor: (True/false)

Watch Video Solution

2. Zero is the smallest whole number:(True/false)

Watch Video Solution

https://dl.doubtnut.com/l/_Jtbid3o5K5h5
https://dl.doubtnut.com/l/_29qiFroirm7l
https://dl.doubtnut.com/l/_uErqXypMpJcs
https://dl.doubtnut.com/l/_CNcR3gd8QpLN


3. Which of the statements are true (T) and which are false (F). Correct

the false statements 

All whole numbers are natural numbers.

Watch Video Solution

4. A whole number that lies on the number line lies to the right side of

another number is the greater number.

Watch Video Solution

5. Which of the statements are true (T) and which are false (F). Correct

the false statements 

A whole number on the left of another number on the number line, is

greater

Watch Video Solution

https://dl.doubtnut.com/l/_eO0UuRMHoIHT
https://dl.doubtnut.com/l/_Ajgg1IGxYHc7
https://dl.doubtnut.com/l/_S5XsyO5PDIH8
https://dl.doubtnut.com/l/_ybrXXN4zggOU


Exercise 2 1

6. Which of the statements are true (T) and which are false (F). Correct

the false statements 

We can't show the smallest whole number on the number line

Watch Video Solution

7. Write the True and False. Correct the false statements:- We can show

the greatest whole number on the number line.

Watch Video Solution

1. How many whole numbers are there between 27 and 46?

Watch Video Solution

https://dl.doubtnut.com/l/_ybrXXN4zggOU
https://dl.doubtnut.com/l/_0rV71WovyqDB
https://dl.doubtnut.com/l/_JTPonwln2OdV


2. Find the following using number line. 

Watch Video Solution

3 × 5

3. Find the following using number line. 18-9

Watch Video Solution

4. Find the following using number line. 

Watch Video Solution

3 × 5

https://dl.doubtnut.com/l/_0PztwAgTRLSO
https://dl.doubtnut.com/l/_leH61xUQSumd
https://dl.doubtnut.com/l/_wBgrSyvztCpi


5. In each pair, state which whole number on the number line is on the

right of the other number. I)895,239

Watch Video Solution

6. In each pair, state which whole number on the number line is on the

right of the other number 1001,10001

Watch Video Solution

7. State which whole number on the number line is on the right of the

other number: 10015678,284013

Watch Video Solution

8. Mark the smallest whole number on the number line.

Watch Video Solution

https://dl.doubtnut.com/l/_KbNqtneb0Gu2
https://dl.doubtnut.com/l/_pTkeGlLe6d7t
https://dl.doubtnut.com/l/_EcoQ5Jd98UDb
https://dl.doubtnut.com/l/_YJfVpOD5JEuJ


9. Choose the appropriate symbol from  or  8___7

Watch Video Solution

< >

10. Choose the appropriate symbol from  or  5__2

Watch Video Solution

< >

11. Choose the appropriate symbol from  or  


0 . . . . . . .1

Watch Video Solution

< >

12. Choose the appropriate symbol from  or  10___5

Watch Video Solution

< >

https://dl.doubtnut.com/l/_YJfVpOD5JEuJ
https://dl.doubtnut.com/l/_qJYEr9Ln4dSR
https://dl.doubtnut.com/l/_JF0qeXpkSufY
https://dl.doubtnut.com/l/_g40hJRynEnea
https://dl.doubtnut.com/l/_pTVRuDKksj3V
https://dl.doubtnut.com/l/_bLHeLy0OnMBz


Exercise 2 2

13. Place the successor of 11 and predecessor of 5 on the number line.

Watch Video Solution

1. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

28 × 19 = 532 19 × 28 =

2. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

1 × 47 = 47 47 × 1 =

https://dl.doubtnut.com/l/_bLHeLy0OnMBz
https://dl.doubtnut.com/l/_oxVi7kHVq4m8
https://dl.doubtnut.com/l/_Iety82RKj7dq


3. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

a × b = c b × a =

4. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

58 + 42 = 100 42 + 58 =

5. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

85 + 0 = 85 0 + 85 =

https://dl.doubtnut.com/l/_Iety82RKj7dq
https://dl.doubtnut.com/l/_4J09bW8ejOIr
https://dl.doubtnut.com/l/_fJyopRGrgD8I
https://dl.doubtnut.com/l/_lnuefClC7CBX


6. Give the results without actually performing the operations using the

given information: 

 then 

Watch Video Solution

a + b = d b + a =

7. Find the sum by suitable rearrangement: 

Watch Video Solution

238 + 695 + 162

8. Find the sum by suitable rearrangement: 

Watch Video Solution

154 + 197 + 46 + 203

https://dl.doubtnut.com/l/_lnuefClC7CBX
https://dl.doubtnut.com/l/_C9aMpZNv8z37
https://dl.doubtnut.com/l/_LKQdCC9TlnQJ
https://dl.doubtnut.com/l/_9zVsBBtualw8


9. Find the product by suitable rearrangement. 

Watch Video Solution

25 × 1963 × 4

10. Find the product by suitable rearrangement. 

Watch Video Solution

20 × 255 × 50 × 6

11. Find the value of the following: 

Watch Video Solution

368 × 12 + 18 × 368

12. Find the value of the following: 

79 × 4319 + 4319 × 11

https://dl.doubtnut.com/l/_sgipECDFJG0R
https://dl.doubtnut.com/l/_mT1HX2NfOPqH
https://dl.doubtnut.com/l/_H7mZmg9XAt3T
https://dl.doubtnut.com/l/_U2ArEUOzEenw


Watch Video Solution

13. Find the product using suitable properties: 

Watch Video Solution

205 × 1989

14. Find the product using suitable properties. 1991xx1005

Watch Video Solution

15. A milk vendor supplies 56 litres of milk in the morning and 44 litres of

milk in the evening to a hostel. If the milk costs ₹30 per litre, how much

money he gets per day?

Watch Video Solution

https://dl.doubtnut.com/l/_U2ArEUOzEenw
https://dl.doubtnut.com/l/_li55R73XPpoV
https://dl.doubtnut.com/l/_mNTTA12dOUx3
https://dl.doubtnut.com/l/_e8xJWRWExZVj


Exercise 2 3

16. Ramu and seetha purchased 15 note books and 10 note books

respectively. The cost of each note book is Rs 15, then how much amount

should they pay to the shop keeper?

Watch Video Solution

17. Match the following 

Watch Video Solution

(i) 3 + 1991 + 7 = 3 + 7 + 1991  [  ] a. Additive identity

(ii) 2 × 68 × 50 = 2 × 50 × 68 [  ] b. Multiplicative ident

(iii) 1 [  ] c. Commutative under

(iv) 0 [  ] d. Distributive proper

(v) 879 × (100 + 30) = 879 × 100 + 879 × 30 [  ] e. Commutative under

1. Study the pattern: 

 
1 × 8 + 1 = 9

https://dl.doubtnut.com/l/_7U5aRkcWs5b2
https://dl.doubtnut.com/l/_3EwiayfTwqOE
https://dl.doubtnut.com/l/_HNlGPRnnCZQv


 


 


 


 


Write the next four steps. Can you find out how the pattern works?

Watch Video Solution

12 × 8 + 2 = 98

123 × 8 + 3 = 987

1234 × 8 + 4 = 9876

12345 × 8 + 5 = 98765

2. Study the pattern: 

 


 


 


Write next seven steps. Check, whether the result is correct. 

Try the pattern for  . . . .

Watch Video Solution

91 × 11 × 1 = 1001

91 × 11 × 2 = 2002

91 × 11 × 3 = 3003

143 × 7 × 1, 143 × 7 × 2

3. How would we multiply the numbers 13680347, 35702369 and 25692359

with 9 mentally? What is the pattern that emerges.

https://dl.doubtnut.com/l/_HNlGPRnnCZQv
https://dl.doubtnut.com/l/_hjYdB0AV7FlA
https://dl.doubtnut.com/l/_LNyFTjANrb5K


Discuss With Your Friends

Watch Video Solution

1. Which number has no successor?

Watch Video Solution

2. Which natural number has no predecessor?

Watch Video Solution

https://dl.doubtnut.com/l/_LNyFTjANrb5K
https://dl.doubtnut.com/l/_L9UyQFimyTFh
https://dl.doubtnut.com/l/_BS2Ub31tfCJz

